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G. Yet Another DAG Problem
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const int MAXS=20,MAXN= , MAXM= ,base=1e7;
const LL Inf=1LL<<62;
struct Edge

int to,next;

LL cap;

Edge(int to=0,LL cap=0,int next=

CVBB ACM Team - https://wiki.cvbbacm.com/


http://codeforces.com/contest/1430

Last
update:
2020/10/16
09:39

2020-2021:teams:legal_string:jxm2001:contest:edu_96 https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:legal_string:jxm2001:contest:edu_96

this->to=to;
this->cap=cap;
this->next=next;

edge [ MAXM<<1];

int head MAXN|,edge cnt;

void Clear() {mem(head,-1);edge cnt=0;

void Insert(int u,int v,LL c
edge|edge cnt|=Edge(v,c,head|u]l);
head|u|=edge cnt++;
edge|edge cnt|=Edge(u,0,head|v]);
head|v|=edge cnt++;

struct Dinic
int s,t;
int pos|MAXN|,vis [ MAXN|,dis MAXN;
bool bfs(int k
queue<int>q;
g.push(s);
vis/s|=k,dis|s|=0,pos|s|=head|s];
Iq.empty
int u=q.front();q.pop();
int i=head|u];~i;i=edge!i].next
int v=edge(i].to;
vis|v]|!=k&&edgel[i].cap
vis/v|/=k,dis/v/=dis/ul/+1,pos/vi/=head(v];
g.push(v);

false;

LL dfs(int u,LL max_flow
u==t| | 'max_flow
max_flow;
LL flow=0,temp flow;
int &i=pos|ul;~i;i=edge[i].next
int v=edgel[i].to;
dis|ul+l==dis|[v|&&(temp flow=dfs(v,min(max flow,edgel(i].cap
edge|il.cap-=temp flow;
edge[i™1].cap+=temp flow;
flow+=temp flow;
max_ flow-=temp flow;
I'max_flow

’

flow;
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int Maxflow(int s,int t
this->s=s;this->t=t;

LL ans=0;
int k=0;
mem(vis,0);
bfs (++k
ans+=dfs(s,Inf);
K;

solver;

int s[MAXS],idx|[MAXS] [MAXS],ans|[MAXS];

int main

int n=read int
_rep(i,
Clear();
m--
int u=read int
siul+=w,s v]-=w;
_for(i,1,n
Insert(idx|v

,n) forl(j,

i-

_rep(i,1,n
Insert(be,idx|[1i
_for(j,1,n
Insert(idx[i!/[]-

int k=solver.Maxflow

_rep(i,1,n

_for(j,0,n

,m=read_int
,n)idx[1i

,v=read _int

,1dx[u

,Inf);Insert(idx|i

yldx |1

be,en);

solver.vis|[idx|i

ans|il=j;

_rep(i,1,n
spacelansi]);
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,be=1,en=

j I=node cnt++;

,w=read_int

il,Inf);

]

]

n-

,base+s[i|*(j-

.
’

,hode cnt=3;

,en,Inf);
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